## Problem 1

a) Relation between

b) and between

$$\hat{a}_{n2} \cdot (\overline{D}_1 - \overline{D}_2) = P_5$$
 and  $\hat{a}_{n2} \times (\overline{H}_1 - \overline{H}_2) = \overline{J}_5$ 

$$\hat{Q}_{uz} \times \left( \overline{H}_1 - \overline{H}_2 \right) = \overline{J}_{s}$$

9) We can rewrite these two conditions as

$$\hat{Q}_{n2}(\bar{B}_1 - \bar{B}_2) = 0$$
 and  $\hat{Q}_{n2} \times (\bar{E}_1 - \bar{E}_2) = 0$ 

Consider a small volume. If

 $\hat{\alpha}_{n2} \cdot (\overline{B}_1 - \overline{B}_2) = 0$ 

at the surface then also

ânz. (2 B, 2 B2) = 0

 $\overline{\nabla} \cdot (\hat{\mathbf{a}}_{\mathsf{uz}} \times \overline{\mathbf{E}}) = \overline{\mathbf{E}} \cdot (\overline{\nabla} \times \hat{\mathbf{a}}_{\mathsf{uz}}) - \hat{\mathbf{a}}_{\mathsf{uz}} \cdot (\overline{\nabla} \times \overline{\mathbf{E}})$ Now we use

 $\hat{a}_{uz} \cdot (\partial_t \overline{B}_1 - \partial_t \overline{B}_2) = -\hat{a}_{uz} \cdot (\overline{\nabla} \times \overline{E}_1 - \overline{\nabla} \times \overline{E}_2)$ 

 $= \overline{\nabla} \cdot \left\{ \hat{a}_{uz} \times (\overline{E}_1 - \overline{E}_2) \right\} = 0$ 

întegrate our le valume

Use Gausstheorem to see that on the end surfaces

auz × (E, - E, ) = 0

$$\hat{Q}_{uz} \cdot (\bar{D}_1 - \bar{D}_2) = S_s$$

$$\hat{Q}_{u2} \cdot (\partial_t \overline{D}_1 - \partial_t \overline{D}_2) = \partial_t S_3$$

$$\hat{Q}_{nz} \cdot \left( \overline{\nabla} \times \overline{H}_{i} - \overline{J}_{i} - (\overline{\nabla} \times \overline{H}_{z} - \overline{J}_{z}) \right) = - \overline{\nabla} \cdot \overline{J} =$$

$$\hat{Q}_{uz} \cdot \left( \nabla \times \overline{H}_1 - \nabla \times \overline{H}_2 \right) = - \nabla \cdot \overline{J} + \hat{Q}_{uz} \cdot \left( \overline{J}_1 - \overline{J}_2 \right)$$

$$-\nabla \cdot \left\{ \hat{\mathbf{q}}_{uz} \times \left( \mathbf{H}_{1} - \mathbf{H}_{2} \right) \right\} = -\nabla \cdot \mathbf{J}_{z} + \hat{\mathbf{q}}_{uz} \cdot \left( \mathbf{J}_{1} - \mathbf{J}_{z} \right)$$
tegral as before
$$\mathbf{q}_{uz} \times \left( \mathbf{H}_{1} - \mathbf{H}_{2} \right) = -\nabla \cdot \mathbf{J}_{z} + \hat{\mathbf{q}}_{uz} \cdot \left( \mathbf{J}_{1} - \mathbf{J}_{z} \right)$$

integral as before

$$\hat{Q}_{uz} \times (\overline{H}_i - \overline{H}_z) = \overline{J} =$$